PROVISIONAL ANSWER KEY
Ouestion Paper Code: S2024/0L
Exam KEAM2024 05
Date of Test: 05-08-2024

The dimensional formula of the gravitational constant is M * L " T ° , the values of

1. a. b, care respectively
ay 1.3,-2

B} 13,2

gy -1,3,-2

oy 1,32

E} 1,-3.-2

Correct Answer : Oplion O

- If the position of the particle is r=3 i+ 2 t °j then the magnitude of its velocity at t=5
" second inms ~!is

A} 2D

By 10

c) 40

o) &0

E} 30

Correct Answer © Oplion &

3 IT a frisgly falling body covers B8O m in the frst 4 seconds | hen in bhe naxl 4 seconds il covens a distanos

of
&) 180 m
By 240 m
cy) 320 m
oy &0m
E} 100m

Correct Answar 1 Opfion B

4. Findthe TRUE statement of the algebraic operations of scalar and vechor quaniities
&) Adding bwo scalars of difterant dimansion |5 pessible
B) Adding ascalarn o avector of same dimeansian & poseibla
Gy Multipbying any wo scalars I possible
B Multiplying any vector by any scalar is not possible
E) Adding any two veciors is nol possible

Cormect Answer ; Qplion &

5 A car maoving with a speed, v is stopped at a distance d by a refasding force F. The force needed 1o stop
" lhe same car mowving with the speed 3v within e same distance is

Ay 4F
gy 6&F
c) &F
o) 9F
E) 12F
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: Correct Answer @ Option O :
| 1
: A ballop of mass 60 g 15 moving up with an acceleration of 4 me? The mass to be :
6. _ . _—
: added to the balloon to descend it down with the same acceleration is ( g= 10 ms~) }
i 1
i &) EBOg |
i By 80g [
: ¢y 100y }
] By 12049 |
] 1
i E] 40g ]
i i
: Correct Answer - Option 8 :
- 7. Abody of mass M is al equillxlum under the aclion of four forces F1 , F2, F3 and F4_ If F1 is removed .
: from the body then the body moves with an acceleraton of :
F
I ~L 1
] M i
| ]
: n' Fl _FJ. :
i M i
] e 1P I
I oy k= I
I M I
i F+F, i
i Gy A—t i
i M [
| ]
! Ej 5 |
] ]
| M |
i 1
: Correct Answer - Option & :
| 1
] 8 If a body ai rest undergoes ona dimensional mofion with constant acceleration, then the power delivered ]
= bor it &t & time | Is proportional to :
] 5 1
: A) u"_ :
S :
i ey ¥ I
1 . i
i np I
| 1
] E} I ]
| ]
| ]
] Correct Answer - Oplion E 1
] ]
: B, The coflision in which the two collding particles move together after coligion is cabed :
: Ay complelely inslastic colliskon :
I B) elastic colfision I
I €) partial inelastic colision 1
] ; . 1
I o) collisian without transfer of energy 1
: E) partial elastic colision :
i ]
(] Correct Answer - Oplion A ]
| 1
: 10. The analogy between linear motion and rotational meton are given. The FALSE one is :
: A&y Force r Torgue :
| ]
| ]
] ]
s s e e e e o e s e e e e e e =
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14.
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Corrsct Answer - Oplion E

Correct Answer ; Oplion B

Correct Answer - Option ©

Correct Answer - Option D

e e e e e e e e e e

Linear Displacement  ©  Angular displacement
Mass o Moment of ineriia
Lirear momentum  © Angular momentum

Translational enargy :  \Vibeational enargy

If an ideal engine needs to transmit a torque 200 Nm (o maintain & rotor at a uniform

angular speed of 300 rads ™, then the power required for the engine is
S0 KW

G0 KYY

a0 kW

180 K

300 kw

I a bady = Eken above the suface of @arh, il Doses its weaght by 20 % at & haighl of

R

If & planet orbits the sun in an alliptical orbit the quantifies associaled with the planet that remain constant
g

kinetic energy and iotal energy

potential energy and angular momantum
linzar speed and angular valoosty

talal anardy and angulad momeantum
kinedic enargy and angular walocity

For the fiow of incompressible lquid through 2 pipe. the Yamnun-mater is used o massura the
pressure of liquid

woluma of flaw

gpoad of flow

temperatung of lguid

mass of liguid Nown
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Correct Answer @ Option O

Twio gases undar the sama thermal conditions have same number of molacules per unit volums. IFha
15. respective molecular diameters of the gases are in the ratio 1 : 3, then their respective mean free paths
af@ in the ralio

P T B
i) H
G
oy
Ej

B 40 B3 =
B o= ==

Correct Answer - Oplion D

The quantity of heat conducted through a metal rod kept itz ends at 100°C and 120°C 15
16. 5 71¢'. If the ends are kept at 200°C and 220°C then the quantity of heat conducted in 10

seconds is
A) 54
By 254
cy 10d
oy 100J
E} &0J

Correct Answar : Option £

IT an ideal as, I an insulated vassal |15 aliowad o B.!l.pEI.I'Id Ifta anothar simitar evaouated vassal Enmugn
17. a valve then

A) external work is dane on the gas

B} the prassure of tha gas is doubled

) the volume of the gas is doubled

o) the prassure of the gas remains same
E} the temperature of the gas s ncreased

Correct Answer : Option &

18 In a Garnol engine, the emperature of the sink 5 350 K. If the efficiency of the engine is 50 %, the
*  temparature of the source shoukd be

Ay TOOK
B) THBOK
c)p B0OK
o) BOOK
E)] 000K

Correct Answar © Opfion &

The ratio of the respective rms velocities of the gas molecules of an ideal gas at 327°C

&

andat 627'C is
Al A2 23
B) '.I'EZJ"\E
e) V2 43
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n.qﬁ:?
El ﬁ:i

Correct Answer ;: Option &

20 The total energy of a gas mixture of one mole of oxygen and 3 mobes of angon al a temperature T by
* neglecting vibrational modes is

Ay BRT
B) (TIIRT
¢y (H2)RT
By SRT
E} TRT

Correct Answer - Option E

A man fires bullets at two hillecks one shorter and the other taller, the taller one is behind
2. the smaller one. If the first echo is heard after & 5 and the second echo after 123 , then the

distance between the hillocks is { velocity of sound in air 330 ms™ )

&) GBOm
B) 950m
c) 1320m
o) oldm
B} BBOm

Correct Answer © Option 8

If a particle executing simple hormonic motion with period T and displacement x = A cos

o eol, then  the scceleration and velocity of the particle at the time T/2 are respectively
&)y 0O Aw
By O A'm
¢y 0. Aw’
o) A A'wm
gy A, AT

Carrect Answer @ Option

23. The equipotential surface (3
&) aplane for a point charge
By sphercal for a dipole
) oylindrical for a dipola
o) spherical for 3 point charge
E] oylindrical for & poinf charge

Correct Answer - Oplion D

24, The: electnc fald intensily due 1o an (deal dipobe al a dislance r from ils centre on e axial peint is directly
prapartional to
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Ay T
&) .I"=
L
) F:
.3
o) e
1
E}) 3

Correct Answer : Oplion E

Two spheres A and B having respective charges 6Cand 12 C placed al a distance d repef each ofher
25. by aforce F, The charge given to sphere A to reverse the force as— F is

&) L
gy =12C
¢y —10C
ny -6C
g} —15C

Correct Answer : Oplion B

The wark done by a source In faking a unit charge from lower (o higher potential energy is called the
26. source's

A electne cument

B) elecinic conductivity
) elecinc field infensity
D) aleciramotive force
E)] alecirie fNux

Correct Ansveer - Oplion D

A Wheatstone network ABCDA has the resiztances 20 £, 10 £ and 12 £ in AR, BC and

27. DA arms respectively in which galvanometer is connected across BD. For null deflection
in the galvanometer the resistance in CD arm should be
Ay SR
g) 40
¢y 1042
o) 8102
g; 60

Correct Answer © Option £

28 If a charged particle enters a uniform magnetic field B |, with a velocity v such thal v has a componant
* alang B, then the charged particle dascribes
A)  acircular path

8) an aliptica path
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C) & siraight ne
o) A helical path
E) @ parabolic path

Correct Answer ;: Oplicn D

24 A proton with kinedic energy of 2 MeV is describing a circular path of radius R in a uniform magnetic field,
*  The kinglic energy of the deuteron to describe the same circutar path in the same feld is

Ay 0.5 MeY
B) 1MaV
G) 2 MeY
D) 4 MaV
E] 0.25MaV

Correct Answer - Oplion B

Two stralght long paradlel wires camyving equal amount of current in opposite directions placed at 5 cm
30. apartare repal gach othar by a force F.IT the currant in ane af wire is doubled and reversed, than the foica
batwaan tham is

&y 2 Fand atlractiva
B) F/2and repulsive
¢y F and repulsive

o) 2F and repulsive
£} F2and stiractiva

Correct Answer ; Opfion A

31. The mutual mductancs between a pair of coils A and B placed close 1o each oiher depends upon
&) e rate of change of current in A
B) therate of changa of curment in A and B
) the matarial of the wire of the colls

o) ihe relative pesition and grientation of A and B
E) the direction of Bow of current in B

Correct Answer - Option O

32, InanlCR resonance circul al resonance frequency &, the quality factor O is

&) ﬂ?_,.LR

a) MLC
EI;L

€V LR

D) aLo
o L

09X

Corract Answer - Dption E

The ratic balwaan the magnebc dipade moment of a revolving electon In circular ortdd 1o its angular

33, omentumis (& tharge and m mass of the slactron )

T AN O A O A R O B S A .
h- - . O O O O O _ﬁd

e e e e e e e e e e



e
& —
' 2m
&
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el 2m
]
o) —
m
£
El 2m”

Correct Answer - Option ©

34, Theeleciromagnetic waves used in LASIK and cell phones are respectively
&) microwavas and radio waves
B) ultraviolet rays and radic waves
€} infrarad rays angd micro waves
oy X-rays and radio waves
E) radic waves and visible rays

Correct Answer : Oplion B

If aray of light passes through a medium , its frequency and wavelength are 4x 10" Hz
35.
and 450 nm respactively. Then the refractive index of the medium is
&y 167
gy 15
) .44
oy 1.33
E} 1.2

Correct Ansveer - Oplion A

36, [Ifthe powerofalensis - 2.0, then the type and focal length £ of the lens are

Ay convex lens, 40 ocm
B) concave lens, 50 cm
) convex bens, 25cm
o) concave lens, 20cm
E} convex lens, 30 ocm

Correct Ansyeer © Option B

In an Young double 5Bl experiment withoul varying the distance of the soreen and the slit separation if the
37. wavelength of manochromatic sowrce is changed one by one in the refioc 2 : 3 - 4 then the
comesponding finge widihs measured will ba in the ratio

Ay 4032
By 1
cy 2
D) 6
E} 3

123
i
B B
‘4G
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Correct Answer @ Option O

18 Which one of the fallowing phenomena doas nol occus when a white light fails on an eguilateral glass
* prismn T
&) Reflection
&) Refraclion
¢y Dispersion
o) Daviaton
El Imterfarence

Correct Answer - Oplion £

39 The de Broghs wavelangth associalad wilh the electrons accelesated by a potential of 81 % s lying in
*  the region of eleclromagnetic waveas

&) ulirandolet rays
B) infrarad rays
C)  miCroWaves
o) X-rays

E}] TY-Tays

Correct Answar - Oplion O

40 If the frequency of the incident lighi on & metal surface is increased by 10% then tha kinetic anergy of the
* emitted photostectrons B Increased from 0.5V to 0.7 eV, Then the work function of the metal i

Ay eV
B) 12&V
) 1.5eV
o) 1.BaV
E} =2aV

Correct Answer ; Dplion ©

a1 I'LI"EI ralio of the velociies of the aleciron in the second, third and fourth Bohr's orbils of hydrogen atom
A)
By
<)
o)
E]

[ 4 m J [QCENE Y 3%,
= ok B b R
- L R L =a

Correct Answer - Optlon D

42. Putonium nucleus undargoes fission with
A fast neuirons
) siow nautrons
c) fast douterons
o) =show deuterons

g} fasto- particles

Correct Answer - Opiion 8

43. Out of the following pair of elements identify isotones
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x) 1H and [H
g) wAdu and gHg
¢) 1H and ;He
p) ol and i

gy xU and U

Gorrect Answer - Cpfion 8

If E and E represent the energy of the conduction band and valance band, E, and

44. E, represent the donor energy level and the band gap in a n-type semiconductor then the
true relation among them is

Ay E,=Ep

B) Ep>E,

) Ep>E

o) E,—E.-IE,

E]l E.'l'.Er"'.El

Correct Answar ; Cption ©

45, During the Tormation of p—n junction
A} majority hobes diffuse from nside to p side
B majorily elecirons diffuse from p side to n side
) ionized donors formed on p side
o) ionized acoaplors formed on n side
E} [Ihe space charge region on either side of the junclion is called deplefion region

Cormect Answer - Opiion E

What is the mass of crystalline oxalic acid (molar mass=126 g mol ') present in 50 mL of

L 0.02W aqueous oxalic acid solution?
&) BImg
B) &63mg
€) I15mg
o) 0083 mg
E] 310mg

Correct Answer - Opilon &

47. The comact slectronic configuration of To (Z=43) Is
a)  [Krjd'ss'spt

By [Krjad'ss'sp’
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e) [Krjad'ssisp”
b ) 1K]Hd ?jﬂﬂspﬂ

g [Krjad'sesp!

Correct Answer : Opdion &

48. What is the mass of water formed whean 1.6 g of methana gas is completely bumt in excess oxygen?
Ay 1Bg
B) 2Zdg
cy 3z2g
By 369
E] 4.8g

Correct Answer © Opfion 0

48, The number of angular and radial nodes present in '4d” orbitals are respactivaly
- |
By 4.3
e) 2,2
oy 32
E] 42

Correct Answer - Cption &

50. Which of Iha lollowing Eoslecironic species has (ha smallesl radus?

A)  Mg&
By F

c) Na
o) o*
e} arr

Correct Answer - Oplion E

51. Which of the following malecule has the highest dipole momant?
B NHJ
a) NF:
ey CCl
oy EEF]

E}] BFy

Correct Answer ; Option &

K2, Which of Iha fallowing aquenus mixiure is a buffer solulion?
A Acelic acid + AmmEnium chioride
B) Hydrodhlonic acid + Polassaim acelale

T AN O A O A R O B S A .
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C) Acefic acid + Sodium chioride
D) Acefic acid + Sodium aceiate
E} Sodium hydrogide + Potassium acetata

Correct Answer ;: Oplicn D

The ebserved molecular weight of 1:1 strong electrolyte is 117 g mol! as determined by

53, the depression of freezing point method. Its theoretical molecular weight is 60 g mol ™" The
percentage of dissociation of the electrolyte is
A) B0
By 95%
c) 100%
D) 85%
E] B

Correct Answer - Dpiion B

Thermal decomposition of a compound X follows first order kinetics. The initial
54. concentration of X is 2 mol L. It decreased to 0.12%5 mol L™ in one hour at 400K. What is
the half-life period of the reaction at 400K.7 {log 2 = 0.3010)

&) 15 min
ag) 20 min
)y it min
D) 25 min
£} 0 min
Correct Answer - Option &

85, Some enzyrme calalysed reactions which occur al metal surfaces ane
&) st order reactions
B) second order reaciions
c) third order reactions
oy fractional order reaciions
E] Zem ordar reactions

Correct Answer = Option E

56, The sum of the oxidation numbers of all the carbon and oxygen atoms in carbonabe lon is

Ay H
B) =2
Gy -2
oy -1
E} -3

Correct Answer - Option &

57. Inwhich of the following equilbrium, Increasa in pressure shift the equilirium in the forward direction
Ay Hag)=I{g) = IHILg)

T AN O A O A R O B S A .
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B) PClsg) s PChig) + Clxg)
e} Nag)+O0xg) = INO(g)
o) €O~ 3Hx(g) * CHi(g) + H:0(g)

gy CO(g) + H:O(g) = COxg) + Hag)
Correct Answer ; Option D

Enthalpy of combustion of ethylene gas ar constant pressure of 1 atm and at 300 K is
~1410 kJ mol”. The enthalpy change for the resction at constat volume and at the same
temperature is about (R=8.3 TK ' mol')

Ay —1405 Krmol !

g) —1415kI mol’
¢y —1407.5kI mol!

o) -1417.5k) mol”
g ~-1402.5k) mol”

Correct Answer - Oplion A

§59. For which one of the following equilibria, Kp= Kc?
A) Na(g) + 3Ha(g) = INH3g)
gy <90:g) - Oxg) = 2504 g)
ey N:Osdg) = INO:g)

) FE'I::[E:} -] F'Clgu_:j + E‘l;{g]
Ej Hz{g) + Brxg) = IHBr( g}
Correct Answar - Option £

60 For which of the folicwing molecule, resonance sinsciures are necessary o describe the bonding

satisfactorify?
Ay Ozone
B) Boron influride
cy  Water
o) Acetylene

£} Phosphorous trichiorice

Correct Answer : Oplion &

61. The bond order of O; molecule and its magnetic property are respectively
&) 3, paramagnstic
&) 2. paramagnetic
¢y 3, diamagnetic

T AN O A O A R O B S A .
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o) 1.5 peramagnetic
E] 2. diamagngiic

Correct Answer © Cpdion 8§

62. Which of b fallowing 3d Bock element exhibils +2, +3, +4, +5, +6 and +7 oxidation states?
&) Titarmism
B) “anadium
¢y Chromiwm
o) Manganese
E} lman

Correct Answer ; Option D

Which of the following explains why direthyl othar has lower Bolling point than itz isomenic compound,
63. eihanol?
A) Rozonance
B) London dispersion forces
¢ Hybridisation
By “an der Waals forces
E} Hydrogen bonding

Correct Answer - Oplion E

B4, \Which lamthanide alemant has hall-iked 41 orbltals in As +3 staia?
&) Terbium
B) Gadolinium
&y Cerium
oy Lanthanum
£)] Luistium

Correct Answer ; Oplion B

65. The IUPAC name of the co-ordination compound [Cof™NH: w(HOWCI)CL: is
&) Tetraammineacquachloridocobaii(il) chiorde
B8} Agqualetrsamminechloridocobaltilly chloride
¢) Chloridatetraammineaquacoeball(il) chioride
o) Tatraamminaechlordoaquacabali{ill) dichlorida
E) Tetraamminechlordoaguacobali(il) dichloride

Correct Anewer - Oplion A

66. In which of the following reaction Lindlar's catalyst is wsed?
a) CHs-CH=CH-CH3 + H: — CHs-CH:-CH; -CH;
g) CH3;-CO-CH;+H; — CH;-CH{OH}-CH;
¢y CHICH2NO: + Hr — CHyCH2INH:
py CaHs-CHO + Hy — CsHs-CHXOH

e} CH3-C=C-CH3 + H; - CH3-CH=CH -CH;j
Coarmect Answer - Option E

B67. The alkeno thal exnibits optical isomerism is

T AN O A O A R O B S A .
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A 2-methyl-2-peniens
By 3-methyl-Z-pantane
c) 3-methyl-1-penians
o) 4-methyl-1-paniana
E] Z-methylpentans

Correct Answer - Option

Which of the following cannot be prepared by the reduction of either a ketone or an
aldehyde with WaRH: in methanol?

&) 2-Butanol

B) 2-Methyl 2-prepanct
cy  2-Methyl 1-propanol
o) 1-Butand

E)] 2-FPhenylethanol

Correct Answeer : Oplicn 8

The following reaction
69. CH;Br + AgF — CHiF + AgBr

is known as

A)  Finkektein reaction
B Wurtz resction

C) Sandmeyer's reaction
o) Williamson reaclion
E] Swarts reaction

Correct Answar - Opdion E

T0. Which is incorrect statement with regard to 1-phenyletnanal?
Ay s a primary aleohol
B) Itis anamomatic slconal
¢y liforms a kefone on oxidation
D} Wiz oplically active
E) N liberates HZ when treated wilh meatallic sodiem

Correct Answer - Oplion A

74 in Dumas method of nitrogen estimation 0,14 g of an organic compound gave 22 4 ml of nitrogen at TR
*  Tha percantage of tha relrogen in the compound s

Ay 125%
B 15%
c) 175%
o) 20%
E] 225%

Coarrect Ansvwar @ Optien O

T2. Which of the following base is not present in RNA molacule?
&) Adenine
By Guanng
c) Thymine

T AN O A O A R O B S A .
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oy LUracil
E] Cylosine

Correct Answer ; Cpdion £

T3. Which of Ihe fallowing carbeoxydic acid has the highest pa?
A athanoe: aod
B) chicrosthanaic acid
¢y fuorosthanaic acid
o) dichlorogthanoic acid
E) thflowoesthanaic acid

Correct Answer ; Option &

What is the tofal number of sigma bonds found in the following compound?
CHy-CH=C=CH—-C=C-H

74,

Ay 10
B 11
o) 12
By g9
El] 13

Correct Answer ; Oplion B

Th. Cheilosis disease and digestive disorders are caused by the daficiency of

&) ascorbic acid

&) twarmme

) cyanocobalamine

o) riboflavin

E} pyndoxing

Correct Answaer ; Option D
:. H

TE‘- !‘ [An X s8¢ X

. dx 1% equal 1o
tan x4 1 £

A) %lau"fmn‘x}-—c
T :
m) - fan | tan 1]

c) ltﬂu"[tan‘v]-ﬁf‘
o) % tan™ [Ian’.t] e
ke
€) —fan”|tan ¥ |+

Correct Answer - Cption A
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g _m.."
Ti- I > _Iﬂ'.'r is equal to
e B
g
Ay 3
ir
Bl 3
ey |
1
o) 5
B =

Correct Answer - Opfion B

- . a0
T8. [f:x‘]umegrealemimegﬂlegsm“mualm.t',mmjgfld;:
Ay V2
gy ¢
e 2-1
oy 1.5‘+]
E} 242+1
Correct Answer : Opiion C
T9. Real part of [ﬂlb‘l 18
’ ~1-:J53—1J

3
Ay F

_2
By

4
€ 3

4
[+ _?

1
B T3

Correct Answer - Oplinn O

B0, Let z be s non-zero complex number such that :-%.Thenmelucunrf: is
&) & siraight lne
@) aparabola
¢y angiipse
o) any circle of radius 4
E} & circle with centre at the origen
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81.

A)
B)
<)
)
E]

LY
)
c)
o)
E]

T AN O A O A R O B S A .

Correct Answer @ Option E

If o'+ 5 =1, then 1202 _ i ool to
I+i{a+1b)

a =ih

i + I

-l + b

-a-—ib

b 4ia

Cortect Answar - Oplion A

- |
[1277]-

B2.
&y 4
gy 20
ey |
oy 2
K} 2

Correct Answer : Optlon G
B3. [(x'-8x" +16x)(4x'—16x+16)dr =
Al adr -8 41624740
B) {*[.t"-—EI:+IE|J+T]J+[‘
¢y 1:{.1:"—E:lrk+lﬁn:t]:+l"_'
o) (x' -8 ec

T G )

[ 4 II!'I: —3.1'1-151] +

Correct Answer - Optlon G

84. Let E.t]hcihn: greatest integer less than or equal to x. Then I.unlﬂ'—

=

2

Correct Answer - Option O

l]+|l"i5 equal to
W

. . O . . . O e _ﬁd

T — — i — i —



85 If x=5tant and y = Seect, then Et at i= 13- is

1
Ay 5

|
] I
L= ] 1{‘—5

|
By ﬁ
E) 3

Correct Answar - Oplion O

86. The area bounded by the curves y=x* and y=2x In the first quadrant, Is equal to

:
) ;
4
B) 5
]
ch 3
8
o) 3
0 2

Correct Answer . Oplion B

SBCX

T T il
jisﬁ:n.m.r]'
A
= =4 I
Al 5(sccx+tanx)
-1
+C
e ZEHWJ+TEH.!.!II
P
i E[accafrtmx]“
-2
o) +C

Maccx +tanx y

E) {sec'rﬂan.rl:u:“
Correct Answer - Oplion B
BB. Ir jx.e".:it = Me +C, where C i an arbitrary constant, then Af15 equal to

A) (14}
By l+x
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Cj =2x
oy %
E} 2

Correct Answer - Oplion A

B9. The value l:lfjjl:[x +3:rJ +2+0x +3]-:u51.r+5hi'r}is equal to

aAp 4
B =2
cy -1
[
E] 4

Correct Answer - Cplion E

1000 + x

500
90. j..»ml':'g'l_mm-: .:iw=

A) OO0

g) log, 1000

¢) log, 500

o) 0

1
E] ﬁ

Correct Answar = Option O

91. When y=%x, the differential equation %=l + ——=— reduces 1o
X :

fiv) 1
o) Ih‘rlﬁ'\-=?rﬁ'
o L
Siv)
vl 1
o=~
T =

o) JSU(v)fiv)av = xdx

. |
gy f(V)S(v)dv=—ds
Correct Answer @ Option ©

92. The integrating factor of(1 + 2¢™ ]E‘;’ B I

Ay e

T AN O A O A R O B S A .
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B) 1+
ey l-=e™
oy 1-2&™
g} I+2&™

Corfect Answer - Opdion E

p
93. Thesolutionof o* =x=:2is

A) y=(x+Z)log(ctz) e+l
B) y=(x+2)og(x+2)-w+C
C)  y=(x+1)logxe1)=x+C
o) yE(eH ool )exe O
El y=(x+tjlog{xe])+C

Carrect Ansvar - Cipticn B
- dy :
84, The solution of —— =dx is
€os ¥
a) loglsecy—many{=x+C

By JI+secy+tany=0C

¢) secy+tamy=r+C

o) loglsecx+tany|l=secy+x+C

g} loglecy+tnyl=x+C

Correct Answer - Oplion &

g5, Thesolulonof (yvcosy+siny)dy=(2xlogx+x)dx Is
A} }'sin.t-:r: logx+C

gy yuny=xlogx+C

c) yuny=rlogx+C

o) simx=xlogx+C

g} Jysinx=xlogx+C
Correct Answar - Cpfion &

D6, The area enclosed by the curve x =3 cos@, v=5smn @, 0 < &= Ir , is equal to

ay  bix
By I
) 4r
py B«
E} 10x

Correct Answar - Oplion A

T AN O A O A R O B S A .
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97. me—’ 5 equal to

K) A
B) a°
cy 2z

I =R |

E]

Correct Answer ; Oplion E

98. If H%:ﬁ.tm a+b=
ayp 0
By 5
cyp -1
o) -5
E] i

Correct Answer © Oplion E
99. If::i
Ay
B) ——l—.+l| +C
2y —1[.—I.+]]' + i
3|ri

—| gl ] O
Thx |

e

Iry

F i
El —i—,+1] E
Jx
Correct Angwer - Oplion C
)

100, The value of _|'

nM
0% .
: : - 1% equal o

gin™™* ¢+ cos™™ ¢

LY

r L

-

G) =7
oy &

P e e R e R R S S S R S e e
't
——
_|...
+
LR
’
=l
i
+
™
h- - . . O . O . . _ﬁd

e e e e e e e e e e



Wi | H

E]

Cormect Answer - Opdion A

Let 1 be the set of all natural mumbers, Let B be a relation definad on M given by aith if

101.
and only if g+ 2k =11. Then the relation § i

&) redlecive but nel symmelric

&) nolrefaxhe but symmetric

) redflexive and symmetnc

B} neither reflaxive nor symmetric
E} an equivalence relation

Cormect Answer - Opfion 0

-

102 HR~- :l:-‘[,,'i'}i-l:.fﬁ Z, x* +.:|J'= L3 -}is arelation on the set of integers 2, then the range of
the relation R is

A) {01}

B) {1.-1}

¢ {0-1}

oy {1}

) {0-1,1)

Correct Answer - Oplion E

103. Let j{x)=|sin x|+ jcos x|, x € . The period of f(x)is

Aj IW
By T
T
G I
o) '_._I'
ix
E} =

Correct Answaer & Opdion 0

104. Lat a, b, ¢ be positive numbers such that sbc=1. Than the minimum value of a+h+c is
A) B
B)
c)
ay
E]

i ko B

Correct Answer ; Opiion E

105, The coefficient of «* in the expansion of —li-l“a“is
(1+2x

A BEO

&) 860

T AN O A O A R O B S A .
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c) 1020
oy Hel
E} B80
Correct Answer ;: Oplicn B

106. The sum upto n Ems of ] + : +,,. 18
EI+E& G+l

A) %l:-d.ﬂrl-rl]
B) %[m |]
c) %m- I]
o l!-m:i

Iy
E) ?:_ T+l —1]
Correct Answer - Oplion C

107. i[l"ﬂ*"']:
Fml

Ay 1+i
By |
cy o 1=
oy O
e} 1

Correct Answer @ Option D

Mumber of integers QI'E-EIIE'F than 7000 can be formed 'I.IIE|I‘1§ p=] diﬁt‘a 2,457 .8 is (Repatiion of '.‘H:Ei‘l.E iz not
108. iowed)

A 120
B 168
Chp 144
L
E} 124

Correct Answer - Opiion B

109. The coefficient of ¢ in (1-x)" {1+ x4 ) ig

ay G
By 'C,
cy O
oy 1
5 R

T AN O A O A R O B S A .
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T — — i — i —



Correct Answer @ Option O

: : _ 1 3)
Let 4 beasymmetric matrix and 5 be a skew symmetric. If A+ 5 -( i s then 4~ 5
. = =)

110
i equal to
I'-I :'I'I'|
i I:.-J 5..
fl -2
E. 3 ﬂ'llll
1 =2
! |._—3 5_|
1 -2}
i 11 5 |
E
Y l2 -s)

Correct Answer ; Qplion 0

]

Vand det( 4" )=25, then xis equal to

M1, 1 4=
12 x)

2
X
a)
By =l
g} =2
D) =4
g} +5

Correct Answer ; Dplion &

. 0D —sin'@ -2-4cos6
112. IfHELﬂ.%jﬂﬂdﬂ cos'@ —2—4cos66 =0, then & is equal to

| sin & oos 26
T
A im
T
B} E
-
C) -i
T
o) E
T
Ej ?

Correct Answar @ Oplion O

T AN O A O A R O B S A .
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r 2 =1
113, ¥ {1 x 5|=0,thenthe real value of 1 iz
3 2 X

Ay 4
By -3
Gy 2
oy -1
E} 4

Correct &nswer - Oplion E

114, L=t An{nl ;]mdﬂnl :I 'I]. If ¥4=F5.then x is

[—3 =1
N I

I3 =1\

1 0)
i [u 1

Correct Answer © Option &

115. The value of sin®15" + cos’ 15" is equal to
13
16
11
16
9
16
T

16

A
B)
G
o)
E) l_f:

Correct Answer - Opsdion &

) =\
116, [l+tmi-}[ 1=+ LI‘.':IE-E— _I =

. . O . . . O e _ﬁd

T AN O A O A R O B S A .
[ia}
]
=
r
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w )
8) ;f.';'[l*'-"ﬂ
o s
o) ::';_*Eﬁ—l]
& (+2+)

Correct Answer - Oplion

117, cos Acos 2.4 iz equal to

sin 44
Al ssind
sim 2.4
. 2 3in 4
cos2A4
€l 5034
5in 2 A
® 4
£ sml-Li
25in A

Correct Ansvwer - Oplion A

g1 T x < sim 5%
i1§. ——=

cos T r+eosSy

tan bx

) s bx
fan &x
) L
e sin fix
p) Cosbx
E] {am H6x

Correct Answer : Oplion £
119, (secA-cosd)(tand—coi 4 )=
aj  sind(l-tan’ 4|
B) —sind(l—tan’4)
¢y ©cosA(l+cot” A

o) -—cosd(l+cot’ A)

T AN O A O A R O B S A .
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Carrect Answar © Dption 8

120. If “ﬂﬂ'—-ﬂ]':ﬁw then sin(a+ F)+tan|a+ F)=

\ Yo
;21
[ }] ﬁ
% E*HE-W"?_
;1"1 _
J7
o) :";
43
E|] ﬁ

Correct Answer : Option &

121. If sin""x +5in" y +sin 'f=3—;,ﬂmﬂ X+y+r=

Ay @
By 8
c) 4
by &
E} 3
Correct Answer - Option E

122, cos18 cosd42 ¢os78 =

1 "
A :-E'Diﬂlﬁ
a) = vos 73
4
il
c) 1sirs.;r
o) Lin3e
4

E] Naone of e above

Correct Answer : Oplion D

123. If aand b are AM. and G.M. of x and v respectively, then 1 =3 s equalto

Aj)  4af op?
B) dab?

T AN O A O A R O B S A .
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¢)  282-3p%
p) a‘2nd
E] 4a?-3p%

Correct Answer ; Option A

124. If sin'x+cos'y=0, then X'+ isequalto
|

A 3
B) 2
c) 1
1
o) E
E}y 2

Correct Answer - Ciption O

[ 1Y)

125. 5m|l 2sin Il.?,i-]:
x) w3
B) ﬁ

2
L ﬁ

4
o) —3

i
E} ﬁ

Correct Answer ; Oplion B

126. sin'][-ﬁin(_sf ”.
ST

hE
M TE
"
By ';..'
x
) 3
T
D) E
T
Ej E

Correct Bnswer - Option E
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127, If {x} =1, then sin(2sin™ x+cos™ x) is equal to

=

&) I—-x"
1

B i -

. \||i|.—]."
I
by X
X
E} S

Correct Ansveer @ Option &

Let xamd p be two positive real numbers. Then

128, [:r+-]— |[_--;+l I is greater than or equal 1o
S ¥
Ly
iy
&)
D)

E]

& h de kLS

Correct Answar - Ciption O

Letdandb be two unit vectors. Let @be the angle betweendandb . If 8 # 0 or 7, then

129. e
(a5 )b is equai to
&) cos” &
8) sin" @
T tan” &
oy |
£} 2cos’s

Carrect Answer - Oplion B

130, Let 4B =i +2) -2k and AC =i~ ] + k. Then the avea of A 4BCis

A W2
3
B 3
c) 243
3

m:r;
©) &

Correct Answer : Oplien D
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131. The centre of the crcla (xX-3)(x+1 Hy-1)1y+3 =05
Ay (31)
By (=13
¢y (3-3)
M (-11)
E) (1-1)

Correct Answer - Oplion E

132, The length of latus rectum of the parabola 1 = x is

1
A) 1
1
Bl 3
) 4
o)
E] =<

Correct Answer ; Opiion O

The volume of the parallelopiped whose colerminus are given by the vectors
T e B a B o e .
f=j4k, 3+ j—k, 8 +2)-Tkis (in cubic units)
&) 15
B =20
c) 16
o) 18
E} 22

Correct Answer - Opfion B

134, Leta=2i+3) -4k, b=i+ -k é=—i+2j+3k, d=i+j+k.Then (G=b)-(F=d)=

Ay -B
By -4
cyp -3
oy =B
E] i

Correct Answer - Oplien D

-1 v+l
If o, B, rare the angles made by~ - = 2
135. I € by 3 7

|cosar,cos B.o057 )=

= —z with the coordinate axes, then

A i

o (T
(3 =2 —l]
" \FFA

3

o (i)

T AN O A O A R O B S A .
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|' 3 2 -1
" \FET)
3 =2 =1

E) l?ﬁ‘ﬂiﬁr

Correct Answar - Ciption &

b The common point of the two straight lines 7 = (1 - 27+ 3k )+ 5( 27 + j + & |and
: F='4'+2j'+71:'+!{;+j'+h:}, LieRis

Ay (118-3)

8) (-11,-8-3)

c) (11.-83)

o) {1183}

E) (383

Cormect Answer ; Dpiion B

The angle between the two straight lines 7 =(41 —k|+#(2i + ] -2k), t e B and
137. v, B
F={: --j+2.tJ+.1:{1:’ ~2j+k), seRis

b i
A
- 4
i B ] s
3
T
ch &
py O
N
El -

Correct Answer : Opilon E

The shortest distance between the paralle] straight lines 7 =j+r{i-—j] and

138. " i R
F:i’-'-.l'{i.'l'_f:}nf'IEmis
a) A3
5 g
3
i %
1
o) ?E
|
E| j;

T AN O A O A R O B S A .
h- - . O O O O O _-‘

LR & _ L L_ % _& & § X S_ R 3§ _E_§_F_JR_HR_ J _FE_ 2§ 31 N R ¥ _JX J_R _§E §E_§ _JZX_2_ &R _E 2 2 _J2_F%_ 1% X _F_ ZJ_J%_K§_ = X _FE_Z_ X 3 =2 _§L & J_J%_§ I



Correct Answer @ Option O

If & and Eare'rﬁ'ﬁun.in'ecmmmd.ifi} is the angle between 7 and b . then

139. = o
(d+(d.b)b)|a-(ab)b) isequalto
u

Al 1
3

Bj 1
3

Ch E
I

Dj E
g

E| 3

Correct Answer - Cplion [

If o and Enrem‘uunnz&u vectors and if :.-1:-:5

~|a@.5|, then the angle between g

140. B
and b is equalto
A3
{3
B 7
T
L I
L 3
oy E
I
Bl

Correct Answer ; Oplion B

144, The symmetric form of the equation of the straight line 7 =i+ 4. te R, 15

x—1 » .1I
W Tg 30
S N g
U A
=1 y=-1 1z
L R TR T
=1 ¥ 2
D) T-T__
:—I‘1n:
T I

Gorrect Answer ; Dplion &
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142. If G=ai+ #j and b =ai - # are perpendicular, where o # 3, then o + Jis equal to
Ay aff
my «-8

C ﬂ'—‘ll-?

®V ap
E}] O
Correct Answaer - Option £

Three dice are thrown simultaneously. The probability that all the three outcomes are same

Lol number, is

) =
1

Bl Sy
G
iy
E)
Correct Answer - Option O

Let A and B be two events such that P| 4)=04, P(B)=0.5 and P( A~ B)=0.1. Then

144, &
P{4/B)=

&)
B)

ch

W s ua | de g ]

-

El

s |

Correct Answer © Option [

1+ms|—]+45

145. - i equal to

|
!

3
3

l+1:'-l,‘.15| — —Jnﬂ

P e S R R R S R S R R R e =
B
L=

T T . T T “r“rrr:“U Y- - “Y - YrYrUY“r:r*rrr Y Y Y *r“Yr“Y“ ““"“"’“’“’Y“Y“ Y “Yr/“ YU r“YrrY“rr/ _9~rY—rrrrrr
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|"’H i
|*- ca8| — 'r!!lll1—
' o, s
(Y . [=&)
gy cog|=— I—i!ll:l| =
| 5 | 5 )

i i

c) :inll% =+;cml%]
D) sinl

E|] Eﬂ“l—

Cormect Answer - Oplion &

!

146. If x » 0,y » 0, then the value of I:'Dt"II L }+¢m"L£J is
¥,

X

Ay &
i

8
ey 0
by -F
T
N
2

Correct Answar ; Cption 8

147. If ; is a complex number of unit modulus, then ::;E equals
a) 2
sy |
L2
c) 3
o) 4
E} &

Correct Answer © Option 8

148. The solution of the inequality [3x - 4| < $is

o 2

By |-14]
c) [1.=-“I
o) [-L1]
e [04]
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